101. Consider the following two statements consisting of Assertion (A) and Reason (R) and select

your answer using the codes given below :

Assertion (A) Rise of militant movements in Indian National movement revealed to
the British Government, the extent to which the Indians were

humiliéted and dissatisfied.

Reason (R) ; Indian youth were involved in large numbers in rhilitaln't movements

| ' _ and left their foot prints as Heros.
A Both (A) and (R) are true and ‘(R) is correct explanation to (A)
(B) Both (A) and (R) are false
(C) (A) and (R) are individually true but (R) is not the correct explanation to (A)

(D) (A) is false and (R) is true

Gemeaumd @meursduniseaiad Qar@asiul Hearer sapm (s.) STHed (&) pSILmasmETS &(MhSE0

Qaream® G QsrHasuulHdarer QarEgUdambs) e msd alamLmws tgile) els.

gahm (&) : @Qndw elpHsmers CurgmL s, Selly Caflweaurdlsatiarn erpss, g mgGaw
2 f @bduismear ehs aeing SpmwUuBSS BLESms @EsE
QAsiflmHS5s) TeTUMmS - amiSHIg).

gryenid (&r) @rdu @eargpiadr fle oarede Sely Czfluardsdr @usssdon

Qevamhgl, BTLSTETS Shsas Haeaa|semar el (H& Gsanpidrarart.
@A) . (5) oMb (s7) @ran@Go sfluramea. (s1) - (8) eder sfwran eflarésomnEib
B) () Lpgid (57) GrerBCio sapTame
i ©) () wpyid (am) safssafurs sluraamar gyamd (sm) - (s) Qe aflwnen eflarésinde
D)  (s0) poug. () o
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102. Identify the leader who uttered the following statement :

“I am not anti-English, I am not anti-British, I am not anti-any government, but I am

anti-untruth, anti-humbug and anti-injustice.... so long as the government spells injustice, it

13

may regard me as its enemy, implacable enemy....”.
(A) Gopala Krishna Gokhale (B) Bala Gangadhara Tilak
f M.K. Gandhi @) Jawabarlal Nehen

@laammneam Asfelss Coslug saneaaum wmm?

... pran ymSlwsgisE aélmeanest e, Brem ks CawisenssE GTETQTEUEH ED6D, HTen THS
SATEMRSSEDGD TETTaTeUeT e, WML BT 2 arewsEGL LnburaeudilDe cadrrareue;

Cuorsns@ eadyreareuer; <pbdeE adprareue; oigs egeuamy <pHwne BB GarardpCam

n

SAGUTEET CTETENET LIGNSHEUETITE S(BFIeUT, FDTSTAILRSS (P IS LIGHSGUETS H(HEIEUT.....
A)  Gamure Hmegyenr CaraGa (B) urestustsr Heosi

(C) Cuorseagmen &rbabs Sbs (D) gm@r’rmne’u G (m

103. Which national leader uttered the following statement?

“I am an Indian Tom Tom waking up all the sleepers so that they wake and work for their

motherlahd”.
(A) B.G. Thilak (B) Gopala Krishna Gokhale
ﬁ Annie Beasant (D) Jawaharlal Nehru

»

. Aemeu(mid gmmenp idlelss Caslus semeveurm wiri?

“Bren. @@ @bSlwen, UL L 245 e prGUaTsmer ellsEsy Callg, smuBTliyDHE
vesflwmpmiorm eNfliiyenrieiefiGuen”.
A) ureshistsy Host B) Carume Smegen CarsCGa

©C) semaflQuaen’ (D) = seuanierd G
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104. Consider the following pairs.

L Swami Vivekananda —  Parliament of Religious Chicago 1893
I3 M.S. Subbulakshmi —  Patronized art and architecture

III. Mother Teresa —  Central Hindu School, Banaras

IV. Raja Ravivarma - Classical paintings

Which of the pair given above is/are correct?

(A) Ionly J II only

(C) IIlonly (D) IV only

Qéseu (LD @anenTa:aneT &(Hsla Carears.

L seumld eflGeusraThsT — 1893 b e HasrGareflen Fows LIMTTEHLOGDLD
II. GTLD. 6Ta. &LILjeL &bl — S5 NI SLigl SHEHED

.  siameen Qe ' - wgSu @QbgrieTafl, Lermyen

V. pregm geSleuriom — Q@mmmrrmr efwkigEr

Cup@dudl L @ameamsafle g &ifl?
(A) Iwi@bd (B) II bl (@b
(C) I wl@wo (D) IV wli@pod

105. Which is not the work of Ottakkuttar?

Senkuntarmalai (B) Saraswathi Anthathi
y Yapparun Kalam (D) Arumbai Tollayiram
TG B L L SFaSST eT(PLI HHeba?
(A)‘ Q&mi@hsT Loireanen j - (B)  sreveud oipsrs
(©) u.:rfljJu@réJa;me (D)  <mbaug Gzrerermullyn

106. Who was the founder of the Kisan Mazdoor Praja Party?
(A) Achariya Menon (B) J.B. Kriplani Menon
y Achariya J.B. Kriplani - (D) dai Prakash Narayanan

Sevren wevgn Nrnnr sl_faws Camppelsgeu wim?
(A)  ygemiwum Goeren (B) J.B. puerafl Cuoerer
(C) esemiwnJ.B. fmuerat | (D) Qmunigsres BmymwewTen

O 29 ‘ GTBA14
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107. Who became the Chief Minister of Madras Presidency in 1923 after Justice party won the

elections? _
(A) Ramarayeningar (B) K.V. Reddy
(C) T.N. Sivagnanam Pillai (D) A.V. Patro

1923 opib gger® perLbupn Qeamemer wrstan Coisdled Hisl & QauphQupn Gpg wrd
Qeeneanar wreramrsdlar (pse wipdflure QurytiCupori?

o

©)

108. Who made the statement : ‘Worship of God through the services of the poor’?

TTLOF ML GO & T (B) GCs.ef. Qg ' !
I9..6TEN. Sleu@pmand YaTenar (D)  g.6f. ursCymr

Mahatma Gandhi ~ (B) Mother Therasa

f Swami Vivekananda (D) Ramakrishna Paramahamsa

‘gpsEpsE AFTETRSET QFiouF ) HL 6 meT TR GESN S SO eTanm s BliLieur wmi?

(A)
(©)

DSTHLDT &S] (B)  emenen Qzrsm
soumudl ellCeusmanbsm : (D)  grodmeanr LFwan b

109. Point out the wrong statement in the folldwing :

Statement : ,
L The place which experiences the seismic event first is called epicentre.
II. Tornadoes are “S” shaped storms.
III. Harmattan wind is blowing in the Eastern part of Sahara desert.
IV.  The word Igneous has been derived from a Latin word.
A III B) IV
I ] ' D) I

v

sl shsgsalle saupTams sy sramidasea)ib.

&(H DS HeT :
IL waapsadle el wfliey ghu@ib QL sms Lel =18liss epowid erer 2ieESULHSDG.
IL  GumrenGLm Lwed “S” euigeuggilan @ maHELD. -
III.  apnol Lér smpm sanmrellen Spsel LGS eladams.
V. @éaflwev eremp eunrenguwimang) QesHen Gomfludedmba QupLILIL L g,
A) IO B) IV
© I D) 1
30 0
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110. Match the following pollutants.

(a) Gaseous pollutant , 1. Anthrax

7 (b) Metal pollutant 2. - Chlorine
(¢) . Deposited matfer pollutant - 3. Cadmium
(d) Bio pollutant il MRy

(a) (b) (©) (d)

| 2 3 4 1
v _

B 1 2 3 4
(C) 4 3 2 1

D) 3 1 2 4

Epsaranb wreUBssmer QUTBHSS!S.

(@) srHm wrEUESS _ : 1. Sybsrréen
(b) 2 CerswrauBss 2. - @Cearmian
(0 ugweeasslULL wrsUGHES 3.  smlBub

(d) =Wl wrEu@sS 4. g

(a) (b) © (d)

A 2 3 4 I
@) 1 9 3 4
©) 4 3 9 1
(D) 3 i 2 2 4
O ) 31 GTBA14
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111. Which of the following is correctly matched?

L
IL.
I11.
1v.
A
(B)
(©

(€5))

Meteors , _ -
Comets ] -
Halley’s Comet -

Milky Way -

II
111

Iv

Shooting star
Revolve round the earth
Appear once in 100 years

Hundreds of stars

Sp&aanTeunmier ergl sflwnsl Qurmssiiul Hierarg?

Il
IL.

.

@)
®)
©)

D)

GTBA14

eTilsHaEeT

eumey BLFSSlTD -

Gamadlav cumed BL_s&STLD —

LimeauLfl LoaiTL_cuLd —

II
I11

1AY

el BLasE D
Lllenis &nil eumEmg)
100 ai-58D & Rmipep Cgmenpid

BTN &S&ERTEHTET [HL_&& S Tl S6T
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112. Match the following List I with List II with regards to reservoir. Select correct answer using
the codes given below the list :

List I List II
(a) Human being 1. Cholera
(b) Livestock 2.  Ring worm
(c) Rodents 3. Plague
(d) Dogs and Cat 4. Anthrax
(a) (b) (c) (d)
(A) 1 2 3 4
B)_. 3 4 2 1
M 1 4 3 2
D 2 g 1 4

Hpblsatien @opUulbLsms Qareamp euflens [—o e euflens 11— Glurr(_rpg,@as auflenssEnsE SC
o_erer AgmEUAalmhg Fflwrer ellenLenw Csfey Cas.

afleng 1 , aufleng 11
(a) waflger 1. smegm
(b) smBEnLGET 2. euemarw Ly
(c) Q&srrgﬂi;suma_l 3 Y Gerds
(d) BTl HMID gu‘:‘ﬁ)ﬁtﬂ. 4. emErmEHE
(a) (b) (© (d)

Aa 1 2 3 4
B) 3 4 2 1
<G 1 4 3 2
D) 2 3 1 4

113. Energy flow in an eco system is:

A Unidirectional

(B) Multidirectional
(C) Bidirectional
(D)  No direction
Ghpbleney e _gsle euatlliL@b §64) L L oTars)
(A)  @Crélans Crrsd
B) uvedas Crréd
€) QmdasCorad
D) daswupo

O 33 Ly GTBA14
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114. Which of the following statement is correct?

]
i i
I1I.

IV.

P

(B)
(©)
D)

When blood glucose level decreases, the hormone glucagon signals the liver to

produce and release more glucose and to stop consuming it for its own needs.

When blood glucose level decreases, the hormone glucagon signals the liver to

produce and release more glucose and to increase consuming it for its own needs.

When blood glucose level is high, insulin signals liver to synthesize and storage of
glycogen and triacyl glycerol.

When blood glucose level is high, insulin signals liver to stop the synthesis and
storage of glycogen and triacyl glycerol.

I and III
Iand IV
IT and III

IT and IV

Spaupbd Qsrisafle) erg) eflwimeang)?

I

II.

ITI.

A)
B)
(©)
D)

GTBA14

Qres  GERECsTaL  Sete; Gopwblurg, GErssTar @WEGHT, <ifls  ereild
GEnsGaraman swrflsg elBellsEh Ly sddymas grarhdams. Coaib sarg Camadsns
GEnsGarans) LweTUHSEeumSLD SHEH D). _

Qrss GEnsEGsmev  <ete GoDWbLCUTE, GEssTa  QuEEhT, <Hs eTelld
GersCamaman swnfizg al@elsEn Ly shaTmas grarddamg. Coaib =ids <ereid
Gen&ECarans ser Coamealsansl) Lwen(HssdHemma.

@ués GEnsCGanen sjatey ifsMsEn Curg Qe oifls areid damarGar@eger Hmib

g defleTranas swuriss Calls@bug saadramad giamrddeans.

Qrss GEnsCanev setey fafagd Curg Gensealen, daarCarQsan LHMID ke Siensd
Slaflermed 2 HuGH wHmib Cedllienu AmssIbLIg SoeSTamas g @ Eamsa.

I o 11T
[ womw IV
IT wimd 11T

II wpmw IV

34 : O



115. In the Union budget 2013-14, Rs. 1,000 crores has been allocated for funding women
empowerment and safety. The name of the fund is called

(A) Abhaya fund
# Nirbhaya fund

(C)  Soubagya fund

(D) Sumangali fund

001314 wsHu 2irs eurey Cawey samsdld @. 1,000 Cag BlS Auamser S HSTIOWILLISSED LoHMID
ungsmIAHE easslIulBerensl. Sibs Hlluier @uuwi

A)  suwr dld .

B)  Hruwr HEl

©) Qearursur H

(D)  swhssd H

116. Privatisation is supported for the following reasons, point out which of the following
statement is/statements are correct.

I To improve efficiency.
1I. To reduce government interference.
III. To increase freedom and speed of decision making.
IV. To disown the responsibility of the government.
V. To promote private sector culture by introducing competition.
(A) I, Il and V are correct
I, II, IIT and V are correct
(C) I,1III, IV and V are correct
(D) I, III and IV are correct

sWMTOWLTEEGSD GOISS Do gapmsafled sflwrearame ereneu?

I. Spawuiamer 2iflsMés.

II.  ewder gamauiligmar Gamnss.

III. sspdnorseb, dabsib (wyey TOULA@mar SFsilés.

IV. <& s QUImILLSEET v SH(Lpe.

V.  Gurligu@ear sidapstiu®ss), saflumt siomps@ v L semar aartés.
(A) L I wpmib V sflwrerena | ‘
(B) I, II, III wpmid V sflwrenenes

(€C) L III, IV wpmb V sflureareney

(D) I, III wpmb IV sflwreareney

O | 35 GTBA14
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117. In 2007, the percapita consumption of energy in India was Kilogram of oil

equivalent.
(A) 529 (B) 592
©) 295 ' (D) 925
2007 o> @, Qbdwreder salipui erfssd maredern 26y — &Gendlymb
eregTenenT LISle0L (D@ FLoLb.
529 (B) 592

© 295 ‘ D) 925

118. The oxidation number of Mn in KsMnOjs is
A)  +2 (B) +4

ﬂ +6 | ‘ M) 0

K2MnOs—é> Mn-ai 2468sCampm erei
A +2 (B) +4
© +6 O o

119.  Which of the following oxides of nitrogen is coloured?
(A) N0

®) N0,
(© NO . = y NO,

Shaar bl ymer Sy smeRsata 6T ﬁm@pml_u_@?
@A) N0 : (B) N,0,
() NO (D) NO,

120.  Colemanite is an important mineral of
)  Boron (B) Aluminium
(C) Gallium (D) Indium

Gameienan’ 19emeumid @.r'r 2 Canagdlen apsdlwiorear saflowmEth
(A  Gumymen B) @Seflwb
€  Gsflwd (D) @emguid

GTBA14 36 O



121.

Consider the following pairs :
I X rays — Rutherford
1I. Atomic Nucleus — Roentgen

III.  Artificial radioactivity — Curie and Juliot

Which of the pair given above is/are correct?
(A) Ionly
(B) II and III only

(C) IandII only

j 111 only

G ereu(mLd BlenearTaaneT &HoSla Csmers.

L Xesfiser - maiCuniG

II. igméa@m — preT_gen

II. Qswpers sdflwssd — Hwfl wHmib Geredlui
Cup@Hudl L @aarsafle erg)/ ey &rﬂ‘

A) TIwi@Eod

®) I wpmib I e @ib

(C) I wpmbdII b Hib

D) I wr @i

37
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122. Consider the following statements and select the correct answer.
I. The path of a projectile is a parabola. ‘
IT. The acceleration due to gravity at the centre of the earth is zero.
III.  The gravitational constant does not have unit and dimensions.
ﬁ Both I and II are correct but III is false
(B)  Both I and III are correct but II is false
(C) I 1 IIT all are correct
(D)  Both II and III are correct but I is false

EpsemL shmisener sHdHle Qamair (D Fiflwmer aﬂmpmuﬁ@gr’rﬁ@g@ ;

L. erfl@uimmeT emdlar Lmeng LITeUanaTe, @LD.

I1. yeSlufler enowisdled Lellrriiiy apBéssden SO LHslub < ELb.
I, mid@we wrhladléE oieweE whmib uflbrarmedr SaLwirg).

A) Iopgwn II sflurarene yermed 11T geum

B) I womwb I sflwrerane yeme 11 seum)

(©) III I ey flu siaensgio sfwmenenay

(D) II womid I eflwrereneu <yenmed I seum

123. What is the relation between the voltage ‘V’ across the ends of a resistor ‘R’ and the current
‘I which flows through it?

i |
@y Ved B) I=VR

WI—R o @) V=I’R

R ergid SengenL G Qsodaid BlarGammitb I’ @b <isar  Gnscs SienLDBEIETeT
Wenan(pdssdnenuerar (V) Qgriii eremer?

1'2
A V= = B) I=VR
€ I= % D) V=IR

'GTBA1l4 ' 38 O



124.  Which of the following vitamins are water—soluble?
(A) Thiamine, Riboflavin, Vitamin—D and Vitami_n—E
(B)  Niacin, Vitamin—Bis, Vitamin—K and Vitamin—-D
M Thiamine, Riboflavin, Niacin and Vitamin—Bi2

(D)  Vitamin—C, Vitamin—E, Vitamin-K and Folic Acid

Spssar. Qgmisafled @5N®S&Dul;®6ﬁ6ﬁ, wall L fansalld, erhs QsmLT Seeamtied — Smyuis

Falg WIEnE ?

A)  engwibdler, aopCumlermeiler, meaul L ifle—D wHHILD aneul L Bler—E
B) epwurdlen, meul L Wla—Biz, eeul_Lflan-K wopmib emeul L iflem—D
(C) ewgwidler, apGumAerreden, enpuimslen LOHMILD el L Ble—DBiz

D) e Lifear-C, aveut_ L Blar—E, enautl Liflen—K whmib «-Cumedlé <iblevld

125. World Meteorological Organisation head quarters is located at

ﬁ Geneva

(B) Taiwan
(C) Pentagon

(D) Manila

o dlar s LGeIL aDWSHET SDR@OWSD o @rer @L LD

A) Gmafleur
B) emseumen
(C) Quen L sen
(D) wsmﬂc\)rr. _

O 39 GTBA14
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126. The expansion of e-PPS is
ﬁ Electronic Project Proposal System
(B)  Electronic Population Prediction System
(C)  Electronic Polymer Purchasing System
(D)  Electronic Petrol Purchasing System

e-PPS —arn eflfleunésid

A)  Weneram S wpenQumfsed el

B)  Denengm) wéser Qgrans QU(THEU SN TS 6D é{wmuq
(C)  Benewam Liredior Qararefena <jenLoLiL]

D)  Hereramy Qui_Crred Qareredenar D{ENLOLIL]

127. The first clear detection of water vapour in asteroid belt was reported by
(A)  Indian Space Research Organisation (B) NASA
(C)  Russian Space Agency M European Space Agency

GorGsarer ugHuldea Blar <6 Bouums upBlu Qgeafleurar g eneu Cevaflud L g
Q)  @idwer feamGauaf <pie| Flmeuead | (B) mmer 7
(C)  pegw eferQeuaf Blmieuanid (D)  mGrriiur elem@aue Blmeuend

128. The Vice President of India is elected by
I The members of Lok Sabha
II. The members of Rajya Sabha

Out of these

(A) Neither I nor II (B) Ionly

(C) IIonly y Both I and II
QiSwireiler gieen @iy Wrss saoaieny Caimb@s@HLuLIS

L W&seTael 2 mLiSeniTaer

II. wrbleoksereanas o mneniaer

Geupmieir

@A) I seowg II-b @damae B) Iwvi@Ewnb

© ITolGp D) Iwpmb I Qrer@i
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129.  Arrange in chronological order :
It Bhairon Singh Shekkawat
1I. K.R. Narayanan
III. Mohammed ﬂalnid Ansari
IV.  Krishna Kant
(A) III, IV,IandII (B) 1II, IV, I and III
(C) LI IIand IV (D) IV, II, IIIandI

ST euUflengliLig eT(paIs :

IL, eouGrer fli Qagsreus

IL. K.R. pryrwenren

II.  @awg anbs sisnamfl

IV.  flmeyan srps

(A) IIL IV, I wpmwb 11 _ M IL 1V, I wpmib 111
(©) LIII I wpgwp IV IV, 1L, III whmb I

130. The world forestry day is observed on _
(A) 8t March (B) 15t March
M 21st March (D) 22nd March

2_& cuel BITeT AensflGaiiL(heug
(A) omTE — 8 (B) wmig —15
(C) e -21 (D) omiE — 22

131. Ladies singles final in Wimbledon — 2013 had won by
v M. Bartoli (B) S. Lisicki
(C) S.Peng (D) K. Nara

2013 & penL_GQupp eibiGeren waeflidsrear hapwit Afeld QeunBl Quppaur wiri?
(A) M. uiGLmed ‘ (B) S. allevsgal
(C) S. Quenmiis (D) K. pmymw
O 41 ' GTBA14
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l132. The programme Sarva Shiksha Abhiyan is aimed at
(A)  providing free food for the poor people
ﬁ | providing education for children
(C)  providing financial aééistance to unemployed

(D) providing free medical aid to the poor

‘gireu Hsay < Qwer eranp HLsSlen CHT&s0mes)
(A)  gow EsERES o amaefE@h S

(B) B itsenésran &oell aULpMIELD gL 1D

©) CamawunCprmés H 2 s6i.aphiEb Srid

(D) gopsEssE Qoas DHSSIe 2 &6l aphiED S L 1b

133. Which one of the following is known as the world’s eternal city?

(A) Athens (B) Berlin

(C) Cairo W Rome

Epsamaupiile e gann 2 wdler HlaalGupeL W BSTLD eTan e p&aILIHE DS ?
Q) gCserav (B) Quiede

(€C) QawCymr D) Cgmb

134. The state that has literacy rate lower than the national average is
(A) West Bengal (B) Maharastra
w Andhra Pradesh (D) Karnataka

Cadlu syref soeludle) eissms el Geopaurear saefuiflel aigib 2 emar omhled
(A)  Cune eursrerd (B) wamymeiglgym

©  apdrGrGsed (D) siprisr
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l"

351

Find the missed figure in the sequence

A AT o
EE E; NN B S5

(2) 3 (4) (5)

A

N[

s

m e
NUI%
\\

A
/'_.__._
i

(A)

TS =l
AN AL
€ —| ® ]
\ \.__,// : \‘*--——d/

auflenauded o arer el (HLIL_L cuenTUL Sangé et (HLdlgésayib :

D - &
U/ 0V i SiiB
(1)

(A)

AN
N{IP%
\\

%

©)

\
\

J

7

-
UL/

NVEEP
€

IS
Y

43

ATIT
NP
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136. Arrange the given words in a meaningful sequence :

1. Honey 2.  Flower 3. Bee 4. Wax
A4 1,342 B) 21,43
W 2.3, 1,4 D) 4,3,2 1

| BDEEETL QUTTSESSENET, < TSSLPETET auflensudad TSI :

i Cgen 2. . ‘3. euenr(® 4. Guwe
(A) 1,342 ' : B) 2,1,4,3
© 2.3 1,4 D) 4,321

137. 30 percent of a number is 15 less than 3/5t of that number. What is the number?

A) 48 ' (B) 52

y 50 D) 70

@@ aaneafler 30 s5eipb 2ACs eramentlan mpdle ppamm wLkiens el 15 Gampey erafled oibs erei
@ 48 . ®) 52
© 50 ®) 70

138. When a number is divided by 13, the remainder is 11. When the same number is divided by

17, the remainder is 9. Then the number is

A) 339 ) (B) 369

K 4 349 | | D) 359

20 aanararg 13-o46 aigasu@n Curg 88 11-m6 smEns). <iGs eram 17-246 aiGsELILGLD
Gungl B8 9-g5 sEDgI. b5 era

(A 339 . - : (B) 369

(C) 349 (D) 359
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139. The following table gives the life time of 500 CFL lamps :

Life time (months) 9 10 | 11 12 13 | 14 | More than 14 | Total

500

|
~1

Number of lamps 26 | 71 | 82 | 102 | 89 53 .-

A bulb is selected at random. The probability that the life time of the selected bulb is atmost
11 months is given by

82 179
A — |ﬂ =
&) 500 500
97 268
C — Dy ==
© 500 ®) 500

500 &y @ efaEgsaian cumpprer efleur ECup sriuL Herarer :

QuUMLPBIET (Lomghiseafle) 9 10 | 11 12 13 | 14 | 14-g el oflsd | Qurssid

+

oflaré@setlen crameanfisens | 26 | 71 | 82 | 102 | 89 | 77 53 500

CoipAs@EsIILL L 20 G dlarsdlar anpprer SFlsulad 11 wrsEEERHE OsTo

B mlugnsare Hlapgaay
82 179
A — [39) it
@) 500 ®) 500
97 — 268
C e D)
() 500 D) 500

140. If 7 spiders make 7 webs in 7 days, then 1 spider will make 1 web in how many days?
@A 1 B) 17/2

w 7 D) 49

1 Slapdser, 7 eapaeer 7 prsefled Qauigme 1 faps 1 sl yomear arssmen Bl sefld Qeuiwib?
A 1 B) 72
© 7 (D) 49

O 45 GTBA14
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141. Identify the next figure

| s | e | )| = | 2
(1) 2) 3) () (5) (6)
A) 4 (B) 0
I | < SENIE
aflemsude B8 LLSams searr([HiGly. :
o s | 2 | | = | 2
(1) ©) (3) (4) (5) 6)
@ ¥ ® |
(®) w (D) Q
GTBA14 46
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142. Malini deposited Rs. 7,000/- with a finance company for 3 years at an interest of 15% per

annum. What is the compound interest and the amount that Malini will get after 3 years?
(A) Compound interest — Rs. 3,246, amount — Rs. 13,246
(B) Compound interest — Rs. 3,646, amount — Rs. 10,646
(C) Compound interest — Rs. 6,436, amount — Rs. 16,046
(D) Compound interest — Rs. 4,636, amount — Rs. 14,636

em Hé owwsdd, wrdlafl oaraneg 15% aam aisshld, 3 wamr@sEnss m. 7,000/~ s
Qewigr, st () et iy papide, 3 ETHEEsEEH IpE wislal QuND al gé Asrmsyb GLTEss
QgrensulLd Wreneu?
(A) sl Dol g — em. 3,246, Qzrens — e, 13,246

‘/f sl ot iy — (5. 3,646, Qsmens - (5. 10,646
(C) sl Geuliq— (m. 6,436, Qrens — em. 16,046
D) &l ey — e 4,636, Qsrens — en.14,636

143. The average salary of all workers in the factory Rs. 60. The average salary of 12 officers is
Rs. 400. The average salary of rest is Rs. 56. Find the total no of workers in the factory

(A) 1116
ﬁ 1032
(@) « 1212

D) 1132

@ Qsmfiheraauie o drer Ggmbleomeriaafer el sardwib . 60. ide fsmisdr 12 Cuflen
synafl eardlub . 400. Bsapdrer Qgmfleraniaeiiar syref eadluib @m. 56 erafld Ggmphereaeuded

2 arer Qrss Aamfemerisailan eramanil&Ems smemr

A) 1116
(B) 1032
(© 1212
(D) 1132
O 47 _ : GTBA14
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144. Match the following :

(a)
(b)
-(0)

List I
Deputy Chairman of the Rajya Sabha
Speaker of the Lok Sabha

Chairman of Public Accounts Committee

(d) Chief Election Commissioner
(a) (b) (c) (d)
A) 4 3 2 1
B) 2 8 4 1
) 3 2 1 4
D) 1 3 2 4
Qurmsgs :
uliguie I
(a) wrflorsamames gemaTssmaeuir
(b) wasaTaneu FLITBTWST
(© Qung sawss G ellem senaaeum
(d) oww g Carae e
(a) (b) () (d)
A 4 3 2 1
B) 2 5 4 1
©€) 3 2 1 4
D) 1 3 2 4
GTBA14 48

o

List IT
Appointed by the President
Appointed by the Lok Sabha
Elected by the Lok Sabha

Elected by the Rajya Sabha

uigwed 1T
soam&ludluimed fluiend
Qeuwdu®d ot

(D&SETEnEUWITED HliiLnanid
Cewiin@dprr
LD&&GTEH 6L LI TED

Ca Qs H&aILHE DT

LOMTBl GV Bl S ETEnGUILLITED*

Cairb0sHdEaLILBE DT



145.

146.

Who said that, “Prime Minister is the captain of the ship of the State?”

w ~ Munro

(B) Ramsay Muir
(C) dJennings
(D). H.J. Laski

“Qrso SiewFsi e erendlemm sliuedler CalLer erenm sadluieu wiri? .
(A)  weanGrr

(B)  pmGe apir

(C) Qeyenafinien

(D) H.J. ewrevdl

By which of the following articles, the procedure for the amendment of the Indian

Constitution is given?
(A)  Article 230
(B)  Article 320
(C) Article 358

W Article 368

5Cp Qsrpéstul G @U Srflusmniy o pilsdod aps o pUbe STAummDILE
Hmssepen GHLAL LU Gerarg?

(A)  2muny 230

B) empiy 320

(C) e2muy358

D) omiy368

49 GTBA14
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147. C(Consider the following statements :

Assertion (A) : Indiais a Republican Polity.
Reason (R) : India shall have no hereditary ruler and the people shall elect their
Government.

Now select your answer according to the coding scheme given below.

D
®)
©
®)

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A)
(A) 1s true, but (R) 1s false

(A) is false, but (R) is true

SlpsanL cursELkisaar Seala

FaH ) A @A G Gl Lrs @ Aol wpen.
sryenrd (R) : @nslureiled L el HENENLOLIMDE DESET SLD qgs{rj-sm& smorsGey Caibal
er(RLILITT&ET. '

&Gy Qar@asiul_@erar @HluiGaamer Qarem® sflurear edeLow Qsfa| Qaiis.

(A)
B)
©
(D)

(A) wpmid (R) @rar@io &, Cogitb (R) erenuis) (A) el sfiuner eferdatb
(A) wpmi> (R) @ram@id &fl, Gogid (R) eranug) (A) aflpe sluner eflerésiode
(A) o, ayemér (R) souy

(A) saum), spemmed (R) &l

148. The Chairman of Sarkaria Commission was

o
(B)
©)
D)

Ranjit Singh Sarkaria
Rajiv Singh Sarkaria
Sivaraman Sarkaria

Ramesh Singh Sarkaria

gir&aTHwr @paflen sameaui

(A)
(B)
(©)
D)

GTBA14

@erdls Sm andsmilum
@rmegeey A anssmilwim
Hleugmines Frésmilum

@ rCuely A srdsmilum

50 : | m|




149. Who was the speaker of Eleventh Lok Sabha?
(A) Bal Ram Jakhar
(B)  Shivraj Patil

M P.A. Sangma

(D) Somnath Chatterjee

LS Carmprealg &saraneludlern ELITBILIST WTT?
} (A)  wenmb PTEST

(B) Aeupmrh uGLed
(C)  Y.¢. sEiom

(D) Gembprs emLitgdl

150. Who appoints the Advocate General for the State?
(A)  President
(B) Prime Minister

, Governor

(D)  Chief Justice of Supreme Court

wrhlasder o aCs Qgeanmee Hlwwand GlawiLieum wrm?
(A) GlgUTE HENEIT

B)  ysio Sievwésit

(ORI

(D) o245 gﬁﬁmshgpggleh saaentd HHLgl

GTBA14
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151. Match List I with List IT and select your answer using the codes given below in the lists.

(a)
(b)
(c)

(d)

A)
(B)
©)

j

List 1
Lala Lajpat Rai
Bhagat Singh -
Surya Sen

Bhagwaticharan Vohra

(a) (b). ()

B N W N

1
4
4
3

B = = s

(d)

W N W

ok

List IT
The Philosophy of the Bomb
Chittagong Armoury Raid

Assassination of Saunders

- Extremist Nationalist

utigwed I-o e uliguwid IT-geer Qurmsd Qar@assiiulBHerer GHluismears Caram® sflwureL

QuTmSSS.

U iguied I
(a) e@meomwsmudrmi
(b) wuLssAm
(© @fwur Qaer
(d) uvseudayamr gur

(A)
(B)
©)
{»)

GTBA14

(a) (b) (©
2 1 4
3 40

2 4 1
4 3 2

(@

- W D W

uiguwied 11
Q@m@efﬂ@ 55D
L éypu_ig,é SIL1BI@ STEHEHSH0
gFrenL_yen Q&menea

Selllyeurs Coflweurd)

52 O
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(a)
(b)
(c)
(d)

(B)

(©)
(D)

List I List IT
Beek . 1. Lahore Congress
Archibold 2 Mohammedans Defence Association
Rahmat Ali 3, Principal, Aligarh College
Pakistan Resolution 4. Coining the word Pakistan

(a) b - (© (d)

2 3 4 1
3 1 2 4
1 4 3 2
4 2 1 3

 152.  Match List I with List IT and select the correct answer using the codes given below :

aflens I-Qev 2 arareupanp auflens -2 e Qurpsgis. ECy Qar@Esiiu Herer Agmede HHa)

2 _migeT eflananig Qgfley Qawis.

(a)
(b)
(©)
(d)

@A)

®)
(©)
(D)

auflens I auflang 11
Quig | ik Q& LrBTH
S, TELITEOL 2. PpELHWIT SHETILE FhISLD
Qrsing e 3. (PSDaUIT, Del&TT Heog
urdlevgmen STomemin 4. undlevgmen eremm GamarenEsLd

(a) (b) (© (d)

2 3 4 1
3 1 L2 4
1 4 3 2
4 2 il 3

53
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153.  Which of the following statements about Mangal Pandey are correct?

105,
I11.

IV.
(A)

©

—He refused to use the greased catridge.
He was a Sepoy in the 19th native infantry stationed at Berhampur.
He belonged to the regiment of 34 N.I at Barrackpore.

He was not punished by the British.

I and II (B) II and IV

II and III y I and III

e (melaeuHmIET higET LUTarGL GOISS sflwrerens Gzitley Q.

L.

16k

IT1.

IV.

(A)
(©)

Qarpliy sLefu guursdaw LweTUB 5SS LOISSTT.
Quirsmidfd Bnsstiu 4mbs 19 <@g Gflama stibe Siumi.
ursufelmbs 34 N.I uanL Gfleneu sribgeui.

< ECawired seirig &eUiLL el

I wHmbd IT B) II u)rj)g)n.b-IV .

IT womw III (D) T woHmb IIT

- 154. Surdas was the disciple of

(A)

(©)

Madhavacharya A Vallabacharya

Namadev (D) Eknath

GTHTE WTHEnLt LT

(A)

©)

GTBA14

LOTSEUMFF MW (B) euseurssmiwim

proCgaut D) aéprs
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*155. Who was the Prime Minister when for the first time No-confidence motion was moved in the
Indian Parliament?

A Jawaharlal Nehru

(B) Indira Gandhi
(C)  Morarji Desai

(D) Lal Bahadur Shastri

poUlEmsaor SToreand wpser (pesars Qbdw prim@swamsda Garar® aubsEurips HArsw
D|ENDEFTTE B)(HHSEUT WITi?

(A)  maeusiemre G

B)  Qodlrm spd

(C) Qumgrired Csemi
(D)  erousgT srevS

156.  The Chief offensive Weapon of the Vedic period

(A) Sword .
(B) Axes
(C) Spear

_ w Bow and Arrow

Caug sragdld LwaLBSsULTL PSS STEEGD pWSLD

(A)  eumer
By Csmmi
©) g

D)  cfé wHmLd SibLy

C 55 GTBA14
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157. Consider the following pairs.

Iron ore dépo‘sits State
L. Bababudan Hills - Karnaﬁaka
II. Badampahar —  Goa
ITI. Dalli Rajhara - Orissa
IV. Kundem-Surla - - Chhattisgarh

Which of the pair given above is/are correct?

ﬁ I only

(B) IandII
(C) TIIandIIl
(Dy IlandIV

Yemeu(mLb @enenraamer HMHsHle Clarars.

@@qugg,n@ UG-G SET wrbletd
e LITLIL|L 63T LDGDEISET ' - &ABTL&T
1L UMSLDLISTT - Gameum
III. el prggasgm —  gffler
IV. @dﬁrl_l;b—&frsvn - Flledvar

Guop@HII L Gamearsafic o #l?
@A)  IolEo

®) 1 wpyb I

(C) II wpmyd T

D) I wopmbd IV

GTBA14 56




158.

‘Match the following states with their size of population (201 1).

(a) Manipur 1. 29,64,007
(b) Meghalaya 2. 19,80,602
(¢ Mizoram 3. 27.21,756
(d) Nagaland 4. 10,91,014

(a) (b) (c) (d)

w 2 4 1 3

B) 1 C2 3 4
(C) 4 3 2 1
» 2 1 4 3

19l etreu (LD wrfloismer wasaEsT@sCLTH @UAES (2011).

(a)  ewtlliiT 1. 29,64,007
(b) Gusrewr | % 19,80,602
(¢ BGemyd 3. | 217,21,756
(d) prarorbs 4, 10,91,014

(2) (b) © (@

A) 2 4 1 3
®) 1 2 3 4
(© 4 3 5 1
@) 2 1 4 3

57
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159. Match the surface area with their ocean.

(a) Atlantic Ocean 1. 165,000,000 km?

(b) Indian Ocean

o

82,000,000 km?2

(¢) Pacific Ocean 3. 173,000,000 km?2

(d) Arctic Ocean 4. 14,090,000 km?2
(a) () (o (d)

@Ay 3 . I 2 4

(B) 1 2 4 3

(@ 4 3 2 il

WES e

&L_adleir ugrL'luerrsbGu <25HGMw Cupmfle@rer Qummss)s.

(a) <leramgs Qumhis e 1. 165,000,000 km?2

(b)  @pHuts QumrisL 6 2. 82,000,000 km?2

(© udls Qumpris o 3. 73,000,000 km?

(d)  oyisgs Qumks e 4. 14,090,000 km?
(a) (b) (c) (d)

(A) 3 1 2 4

B) 1 2 4 3

€ 4 3 2 1

(D) 2 3 1 4

GTBA14 | 58 | s O




160.

Match the following :

(a) i’olydactyly
(b) Color blindness
(¢) PKU
(d) Hairy Pinna
(a) (b) (c)
‘A 4 3 2
By 1 2 3
(@ 2 3 4
D) 3 1 2
QUT®53)8 :
(a) uwrelméenLed
(b)  Bné GOHL-Ggsaemo
© . 9Gsw
d) srde iy auatTeug)
(a) (b) (c)
(A 4 3 2
B 1 2 3
(@) 2 3 4
D) 3 1 2

1.
2.
3,
4,
(d)
1
4
1
4
1.
2.
3.
4,
(d)
1
4
1
4
59

Y linked trait
autosomal recessive trait
Sex linked recessive trait

autosomal dominant trait

Y gnihg @GanTid
2L CLnGamned 6p(HikiE @G enTd
LImeL 9eneantds 6 (hiki G GemTid

<2 CLrCambed i@, @b ‘

GTBAl4
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161. Match the List I with List IT answer using the codes given below :

(a)
(b)
(o)
(d)

(B)
©)
(D)

List I

Occupancy tenants
Tenants-at-will
Sub-Tenants

Intermediaries

(a) (b) (©) (d)

2 3 1 4
il 2 3 4
4 3 2 1
3 4 - 2 1

List IT

Extremely weak
Permanent and hereditary
Temporary Tenants

Absentee landlords

aflos I g auflans II 2 an QummsS Epsem G an@ﬁ&%&@ﬁ,gjm Qummgsonear eSlenenul

Qar@ssiul’ L il nwauBiss GO ab.

(a)
)
©
@

(A)
(B)

©) .

D)

GTBA14

euflens I

Ble &SATOL GSSMESTTT
A BLL GSSDESTIT

2 LuEE Gsmasri

@ ssraTaer

(a) (b) (© (d)

2 3 1 1
1 2 - 3 4
4 3 2 1
3 4 2 1

60

afleng 11

< HsULE LieveiaTomaneur

BlpHaTome LD'r_f)QJLb. aumflafen Qupmeur
SNETNE &SSMHSTITIT

wanmps Hleolibly



162.

163.

164.

A’ per the census 2011, India's Population was 1.21 billion, which is ' percent
of the world's population.

A)  185% - 46 17.5%

(C) 16.5% ' 15 5%.

2011 wés Qsrans sans&Ca@lnddarug @idureler wasdr Ggras 1.21 Wadlwam@gh. @& 2 ws

w&sL_Gsmensulien &&6IHLTGLD.
(A) - 18.5% ' ' B) 17.5%
(C) 16.5% : (D) 15.5%

According to 2013-14 budget of India, what is the percentage of current revenue expenditure
meant for payment of interest?

(A) 16 percent d 26 percent
(C) 28 percent (D) 32 percent .

@rdHwrellern 2013-14 euga-Qswe] S sley, Grg;ga)m ellaar® BLLL eu@eumit Qaeeila,
Ll igwrsd QeassluhEns?

(A) 16 eflgpsan( B) 26 Aupssn

(C) 28&fwsst@H “ (D) 32 &flpasn®

Which district in Tamil Nadu secures first rank in percapita Income in 2009-10?
(A) Chennai

(B)  Tiruvallore

(C) Coimbatore

W Kanniyakumari

slpBTL g 2009-106 sefllBbur aumuorarsdle waalLsdle Qupp wreaul L b eTg?
’(A) (AF: ot

(B)  Hmpeuerenit

©€)  Gamugpggnt

D) seamaflurgwodf

61 GTBA14 -
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165. Classify the following elements as Lanthanides and Actinides

1 Samarium (Sm)
2 Uranium (U)

3. Plutonium (Pu)
4. Dysprosium (Dy)

ﬁ Lanthanides  : Samarium, Dysprosium
Actinides = Uranium, Plutonium
(B) Lanthanides : Samarium, Uranium-
Actinides 2 Plutonium, Dysprosium
(C) Lanthanides 3 Dysprosium, Plutonium
Actinides 2 Uranium, Samarium
(D) Lanthanides : Samarium, Plutonium
Actinides = Uranium, Dysprosium

&G GQar@saiulHerer saflwmismer Cabgaman(d, dgmar s Afsg <ihls.

1 &#Gofluwib
2 wCreflwid

3. L(@pGLmeflwid

4. ig.e0LGrmav b

A)  Capgenear(® : sCwAlwb, yevyCrravusd
<2y,51g anent(h) : w,Craflwid, L@pGLmeflwin

B) Capsamer : gCwflwib, wlreflwid
2&la ane(h) : HEepCrmaflwib, geavGrravwid

(C)  Capsamen() : g Grmavwid, L@pGLreflwib
245l ena(h : w,Greflwib, sGuofwibd

(D) Conseaer( : sCofwib, LEpCLraflwibd
<=}, lg anenr(H : W, Craflwib, iyevCrmevwid

GTBA14 62



166. Match the list of radio isotopes with its uses given below and choose the correct answer

using the below given codes.

(a)
(b)
(c)

(d)

(A)
)
(©)
D)

Caobalt 60

Aglgl

Hglﬁ?

P32

(a) (b) ()
2 4 1
4 3 2
1 2 3
. 3 2

1L Fertilizer

&

To photograph brain tumour
3. Blood cancer

4. Sterilisation

(d)

8Cp Qar@ssiiul @Gerar CraGum pCarGLlinsdr UL igwenea Sigen LwensGerrh CQummsss.

gflwren eflenLenw ECp QarRssLILL Berar GHuGsmer Asran® Gsifley Qe

(a)
(b)
(c)

(d)

(A)
(B
(©)
D)

Camumet_ 60

Aé]gl

Hglg'i’

ps2

(a) (b) (c)
2 4 1
4 3 2
1 2 3
1 3 2

1. 2 [7ib
2. epever sLigenw UL 9458
5. @res LonCpmi

4. mewo Sapusl el

63 GTBA14
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167. Consider the followiﬁg statements and select the correct answer :
Assertion (A) : Sclerenchyma cells provide mechanical support to the plants.
Reason (R) :  Sclerenchyma cells have thin cell walls.
(A)  Both (A) and (R) are individually true and (R) is the correct explanation of. (A)
(B) Both (A) and (R) are individually true but (R) is not a correct explanation of (A)
M (A) is true but (R) is false
(D) (A)is false but (R) 1s true

Spssranib eunsflumisman sBsHd Qarar® sflwrear edemws CaibbsE :

aanml (A) . evdleryenension QFsEr sTaITREERESE 2 nds sermullanar eafladaman.
smyemtid (R) . evdleTyenenaion Qedser Qeanenowirer QeaseisamarTt Quibhmedrerer.

A)  (A) wppb R) @ren@ib &7 Cogib (R) sranug (A)ellpe sflunar efearastd '

B) (A wpmbd (R) @ream@ibd afl. Cogihd (R) eraruig (A)ellnE sflumer edlenésiodea

©) (A s ayeme (R) sougy |

D) (A seugy spanmed (R) el

168. The nitrogenous bases found hoth in DNA and RNA
I — Adenine and Uracil
II — Thymine and Guanine
IIT — Uracil and Thymine
IV — Adenine, Guanine and Cytosine
A I B) 1II

(C) I y vV

g.orane (DNA) wiomn <yieeareg. (RNA) <dlu Gramgaid sreriu@demm aplGrreearen

SITBISETTGL 6T

1 — sigearen LHDHD WTTElD

I — egfén wHHID Geurenaner

111 — wygmdléd WHMID engLolen

IV — @iq evame, Geureanasan whmid enal CLmélen

@ I - B 1II
(© 1III _ D) 1V

~ GTBA1l4 64 o




169. The DSC prize for South Asian Literature was given to
(A) Songs of Blood and Sword'
d Chronicles of Corpse Bearer
(C)  Nine Lives
(D) Youcan sell

Qspardlu @esSun QgL irume DSC ufilens Quim Hreued
(A)  emRiey L 96T <DieiT GLeUITITL

B) dAgreflésadn <0 sriliuey Gt

(C)  enmen adleuan

(D)  w Cser Gee

170. INDRA — is the joint Naval exercise between the following countries
(A) India and America
(B) India and Japan

W India and Russia

(D) India and Australia

“INDRA” — &CLp sawL_ prH@@padenL Guiwmer sl () SLHLenL LUl p&epw GMl& @D
A) @pdurwhmd sdfssT

®)  @bBurwppid Ui

(€) @pHur wHpb pegwi

D)  @pBur wpmid G

171. Which among the following has the world’s largest reserves of Uranium?
(A) . USA

(B) Canada
(C)  Russian Federation y Australia

Spaei_cupBled 6ThHS BHig.ed 2 HlCaGW 2ifls Meray WCraflwib o drerg)?
(A) TUSA . (B) sa_m
(C) pegw sl L el ' (D) c%m'uﬁ('sr;e&.um

O _ 65 | ' GTBA14
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172.  Which of the following is not correctly Matched?

Dances States
(A) Bhangra - Punjab
(B) Kuchipudi - Andhra Pradesh
ﬁ Yakshagana - Gujarat
(D)  Odissi — Odisha

SDée@TuDmIET Seunns QUTmSSLILL GeTeng) 6rg)?

. BLanmIGeT omblevaigeT
(A) LIMIRITT = LIEh&TL
B)  GFsiLg - 2bAibrGssd
(©) wsessmad | — GOITS
D)  Guseva -~ gugeur

173.  UN flag is designed with the leaves of which of the following tree?

ﬁ _ Olive |

B) Willo
(C)  Apple
(D)  Pine

& b semuilen Gamguiled G b@LbeTer @aasaier UL ks aThs wrsmg Gambseanel?

(A)  yelle
B) aMevGeorm
(C) ler

D) euen

GTBA14 66



174. Telecommunication Consultant India Ltd. was set up in the year

) 1975 . ® 1976

(©) 1977 v 1978

Epdug deranas Qg,m_r'rq-G&Gma_l Bpeuand ehs e[ o HSSILILLF?
(A) 1975 (B) 1976
(© 1977 | D) 1978

175. The world’s first intelligent ‘Knife’ developed can detect
Genetic disorders ' (B) Congenital diseases

W Cancer (D) None of the above

2 awflen (s ‘Famanflels s58 et cengs SETLHILIS SnlqU1g)?
(A wrys Gepurhser (B) Ypeils GevpurBsar
(©)  ypoiCrmi D) Cupsar eggLblaeame

176. The speed of the world’s fastest super computer is
33.88 petaflops . (B) 33.87 petaflops .
y 33.86 petaflops 7 (D) 33.83 petaflops

> avélen oFCaus Cobul L santlaflufler Gausb
(A)  33.88 S L mLemmien ‘ (B) 33.87 5L mooLiammiicn
(C)  33.86 15U Lmesliarmiicn (D) 33.83 1§ moliemmlicn

177. The satellite which was placed in orbit by PSLV-C22 on 9nd J uly 2013 is
v IRNSS-1A . (® IRNSS-1B
(C) IRNSS-1S (D) IRNSS -2A

PSLV-C22 -6 spmes 1 Lmenguder 2 mOama 2013 oiany Gegussiiul L AswnamassGamer
(A) IRNSS-1A ~ (B) IRNSS-1B
(C) IRNSS-18 (D) IRNSS-2A
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178. India’s first centre to monitor climate change was opened recently at
(A) . New Delhi A Chennai
(C)  Jaipur (D) Bengaluru

L UGleulin ﬂ@m‘u LIPDSDS SATETENEGD (PHD @wid sbusHa @bdureld’ ey rbifésin L

@b
A) Uz Hoe (B) Qsenanar
(€) Gy % it D) QuisEss

179. How many straight lines are there in the figure below?

© 16

4) 10 A 12
D) 8

Sparemib UL S 2 erer CrTGar(seflan erameaisama

A) 10 B) 12
(C) 16 ' _ (D) 8
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180.

181.

182.

Find the missing number in the diagram.
4 |5 10 | 8 12 | 8
20 | 9 - 80 | 18 ? 20
(A) 25 : (B) 30 _
y 96 (D) none of these
Getreu(pid LiL_SHleb el (ML eremr 6rg)?
4 5 10 | 8 2 8
20 | 9 80 | 18 ? 20
(A) 25 (B) 30
(C) 96 - (D) @eunde ergiesliena
The sum of three prime number is 101. The difference of two of them is 24. What are the
numbers?
(A) 5,59, 37 : (B) 41,53, 7
(© 11, 87,53 y 3, 61, 37
epeiTm) LIET erenrasatien gnBiged 101. Siaundler @ranp aarsErsE @l allsHursnd 24 aafld
Qe SET WITenal? : 7
(A) 5,59, 37 (B) 41,53,7
(¢) 11, 37,63 (D) 3,61, 37
A started from a place. After walking for a kilometer, in a direction, he turns to the left,

then walking for a half kilometer, he again turns to the left..Now he is going eastwards. In
what direction did he originally started?

7 M West = (B) East

(C) North | (D) South

A srenuauit @Rl sHmHE am Hmsmu Coradl e HCam BLLT pLbs 190G @LLiuEsD Spbd
1/2 Gar BL L BLbg GnE Bam@nd @Liussd Al prbg eadlort. sHGCLTE e £pss
Hava Crorsd BLibs Qeammred, Asm_sss8d seu ahs Hosmw Crréd pLéss Qsmmdearmi?
&) Cope - (B) dpse
(C)  aLsm . D) Czho
69 GTBA14
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183. The circle-graph given here shows the spendings of a country on various sports during a

particular year. Study the graph and answer the question.

Cricket
81° Foot Ball

Basket Ball
50°

What percent of the total spendings is spent on Tennis?

A' 121% ' ®) 221%

€)  25% : D) 45%

Qerdéslul L el L eueyULLTEE @M BMikhear GHUA L yamgh@er LoGaum
afememuim’_iy Daren Qeacilasamss sl Hdng. Spssar cuamuLsmsl LTTss Cadrellss udd
Gar@.

assmen gg6igb Cwrss Aewelagda QLaaiavesans Cewailiubhdng?
&) 125% B) 221%

©) 25% D) 45%
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184. ; . . . : g A s :
The sides of a triangle are in the ratio and its perimeter is 104 ¢m. The length of

=
4

bo | =
@ | =

the longest side is

(A) 52cm | y() 48 cm

(C) '32cm (D) 26cm

%i eran ellflsgsler o emerar. e shmere| 104 cm. g

o~ .

@ WwECaTamslen LSHBIGET
Bemonen LGsSSen 2jemey e ?

e B) 48cm
© 82 cm (D) 26cm

185. If A’s salary is 20% less than B's salary, by how much percent is B’s salary more than A’s?

@)  24% v 25%

©)  20% ' D) 22%

A-an aumwonerd B-uler eumorersans efl 20% @aneurs o drarg) erafled B-ulesr G:J@Lorrsﬁm A-wlem
- u(pLTETEMS el ereualaTe| FFeISD HHHONS 2 drarg)?

@A) 24% B) 25%

(C) 20% D) 22%

186. The volume of a cube is 125 em3. The surface area of the cube is
(A) 625cm? (B) 125cm?

SO 150 cm? (D) 100 cm?

R s sGITSSlen sevr sjamey 125 sar Qg.8. erafldr wigen LpLLFlLIETe GTEUaIETEY,?
(A) 625 sQs.6. (B) 135 5.Qs.5.
(C) 150 £.Q&g.85. ' (D) 100 &Q&.15.

187. If 50% of (x—y) = 30% of (x + ¥) then what percent of x is y?

,/(A') 95% B) 50%

C) 5% D) 100%

(x—y)-ar50% = (x+y) -6 30% erafled x-6b y-ain s5aIHID creman?
@)  25% | (B) 50%
©) 5% (D) 100%

O i | GTBA14
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188. The least number which when increased by 1 is divisible by 12, 18, 24, 32 is
(A) 278 (B) 288 '

W 287 | ™) 279

R GTEmap|L T Reewns Fml L oig 12, 18, 24, 32-=46 Bglland cuguBHns. issmaw B

GTavoT
(A) 278 (B) 288
(C) 287 : (D) 279

189. The missing term in the series
9, 225, 16, 196, 25, 169, _? 144
(A) 81 B 121

y 36 | (D) 49

9, 225, 16, 196, 25, 169, _? | 144 crerm Qam_Me eAHuL_L erair
4) 81 B) 121
(C) 36 : (D) 49

190. Find xin 47 x64% =16**°

A 1 ®B) 5
€ 4 y& 2
4" x64°* =16’ erafled, x —@)erm Lol

A 1 : ®) 5

o

C) 4 (D)

191. At simple interest Rs. 1,000 becomes Rs. 1,150 in 3 years. If the interest rate is increased by
3% then the total amount is

(A) 1,400 B) 1,300

(©) 1,140 ' y 1,240

@ GHUAL saflou’y aigsdad 3 amBsafla a. 1,000 sieng) m. 1,150 <pdlng). 3% s@sons
aul g el @@winder, sHCLnensw Qrss i

(A) 1,400 (B) 1,300
(© 1,140 (D) 1,240
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192. If 18% of the total number of oranges in a basket is 36. Then the total number of oranges is
(A) 100 (B) 150

y)‘ | 200 (D) 300

@ smeLuld o drar Qurgs rers Lphsaisn 18% oparg 36 eafléd GClorssparer BTEHs
upigeflen ererenflbans '

(A) 100 (B) 150

(C) 200 : (D) 300

193. The ratio of the prices of two cows was 23 : 16. Two years later the price of the first cow rises
by Rs. 477 and that of the second by 10% and the ratio of their prices became 20 :11. Find
the original prices

Rs. 1,219, Rs. 848
(B) Rs. 1,218, Rs. 848
(C) Rs. 1,210, Rs. 850
(D) Rs. 1,219, Rs. 840

@ran® wrpsaier elma aldsworag 23 : 16. Qran® wTOHEHES UDE, PsD LIk er eilene
arumi 47T-248 2 WiThss LHmD Gy reug wr e eleae 10% e wibsg. sHCUTE eflemeuilen
afflgoreng 20 :11 o EWb. 2 a@reld ellamaamuis STas.

A)  epumis 1,219, epumis 848

B) mumd 1,218, mumi 848

(C)  emumis 1,210, epuimis 850

(D)  emumis 1,219, epuimis 840

194. A ladder of 25 ft length reaches a window which is 24 ft above the ground level on one side
of the street. Keeping its foot at the same point the ladder is turned the other side of the
street and now reaches a window of 7 ft high. Then the width of the street

A 30 B) 32

© 29 y 31

@@ Asmeld Bmssiu Gerer 25 oy Berapeter geanfl gyl L Sl mbE 24 <iq 2 wWrEpeTer
saaos QsTRHDS. <lgew wrppToe Saugamimu Febn F0gmelar LHUEsSSearar
geranane 7 g 2 WrsHd Asr@Hg) crafler 21505 mellan SisaLd

Ay 30 (B) 32

© 29 - D) 31
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195.  Which of the following statements about Lok Pal is/are wrong?

(1)

(i1)

(iii)

(iv)
(A)
(B)

(©)

Lok pal will have the power to investigate an Administrative Act done by a Minister

or Secretary
Lok Pal can inquire into a complaint of maladministration

Action taken in a matter affecting the dealing with Government of India and any

foreign government

Grant of honours and awards
(@), (iv)

(1), (111)

@), (1)

j (i), (iv)

Corsure GOlss smsgisaia G ememeuaedmET seuprarame srgj/srmau?

@

(ii)

(ii1)

(iv)
A)
(B)
©
(D)

GTBA14

2 LHSM Ddog Qewareria Blireurs Qeweme eflemrenanr Qe Corsuraiss idsid

2 61 ().
Bireurss &TGsH g QarBssiiu’ Herer yasreany Comsuma elsrfaseib.

Qpdu eipemiusd wHMD Ceualpr B SirsmEssgIL T FHURL QUUBSHSMTS GO5E)

eflamf&semid.

wilwres whmib eNmaser Saflliug).
(@), @iv)

(i), (iii)

(@), (ii)

(iti), (iv)
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196. Which one of the following is not related to NGO's?
(A)  Civil Society Organizations
(B) Citizen Associations

Non-State actors

M Public Corporations

ﬂ@m@@ﬁmmﬁngﬁaﬁ,g e eTen. o). SEEBLaT ASTLTLenL Wig e ?
(A)  Bgows Fps Hpeuambsar

(B) B4 l0&E5ET FRISHISET

(C) =&-grgm QEweUTLLTETT&HET

(D) Qurgis spsaniser

197. In Indian Constitution the directive principles of state policy were incorporated in Articles

from.

(A)  Art. 40 to Art. 51

M “Art. 36 to Art. 51

(C)  Art. 39 to Art. 51

(D)  Art. 25 to Art. 51

@bHu  agsmoldar, sirflar Qardasow il Qsgbsid Cpplopo@nsma THE5MTEEGD

2 mUiL&erT

(A) 2. 40 apse 2. 51 eueny
B) 2. 36 s 2. 5l euenry
(C) =39 qpse 2. 51 aueny

(D) 2. 25 @z 2. 51 auary

O % GTBA14
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198. Consider the following statements and select the correct answer using the code:

14

IT.

(A)

(B)

v/

D)

IGOANPS covers only BPL population and persons above 65 years and provides
Rs. 200 month

In India, avoidance of poverty is reached when a person has access to 2100 calories

per person per day in Urban area and 2200 calories in rural areas.

CODE :
I only
IT only
[ and II

Neither I nor II

Spsar. aunsflubismer sawallss seupdo slwurer elmiwlmar GO QLar Qara(®

QasMB0sH&es6 0.

L

IT.

A)
(B)
©)

(D)

GTBA14

IGOANPS Qgmriyenwg BPL mésa;LQg;rrma;u.‘ﬂeh 65 auwgraneuis@ps@ 5. 200 wrsD
QarhssiL@EeusTEL0

@pdwreled eupern gelliliy eramug ahs @@ walgear 2100 sCarfsdr @ BT sEHES
parLDSSaIbd wHmbd 2200 sCamflser Aymoliyrsead aLL@Gugrr@Lb.

@O O :

I w i

IT . Hw

I wpmo 11

I gvag II-b Gaoene
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199.

200.

Which among the following Committees was responsible for the incorporation of

fundamental duties in the constitution?

(A)
(B)

s

D)

Wanchoo Committee
Sachar Committee
Swaran Singh Committee

Bhagawati Committee

&G JarBasuulBerer G(pésaie a8 Dglilien & sLeamwsmear @S sifsamwlibe Glameanés

SIS B\(HHSS?
(A)  ares GW

(B)  asmemit Gup

(C)  eveuyen &l G

D)

Lseid) 6@

Arrange the following in descending order

1l
2
3.
4

v’

(©)

Teshil
Sub-division
Village
Pargana

2,1,43 B 3,421

1 2,1,3, 4 D 1,2 4,3

Gemeumeuamaupenm @G auflmsudier paniinhissis

i
2.
3.
4,
(&)
(©)

Bnéleb

glenanrli-19flay

Sgmoib -

LIT&menrT

2,1,4,3 B 3,421
2,1,3,4 D 1,2,4,3
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